Math 4300 - Homework # 10
Angle Measure

. In the Euclidean plane, let A = (0,0), B = (—1,1) and C = (1,1).
Calculate mg(£LABC).

. In the Euclidean plane, let A = (0,3), B = (0,1) and C = (+/3,2).
(a) Find mg(LABC), mg(£BCA), and mg(LCAB).

(b) Find the sum of the measure of the three angles:

. In the hyperbolic plane, let A = (1,2), B = (1,4) and C = (3,4).
Calculate my(£LABC).

. In the hyperbolic plane, let A = (0,1), B = (0,5) and C' = (3,4).

(a) Find my(LABC), my(£LBCA), and my(LCAB).

(b) Show that the triangle AABC doesn’t satisfy the Pythagorean
theorem. That is, my(ZLABC) = 90 but

(AB)? + (BC)* # (AC)?
(c¢) Find the sum of the measure of the three angles:

Note that the angles sum up to less than 180°.




